IANDUIT® ELeCTRICAL SOLUTIONS

A
System
. Overview
cus NEMA Hole Pattern Grounding Busbars £
LISTED —
; NEW!
Type GBN - B1.
* Provided with standard NEMA hole pattern spacing * Come pre-assembled with brackets and insulators Cable Ties
« Made of high conductivity copper and tin-plated to inhibit corrosion attached for quick installation
* Insulators provide 600 V of insulation .
Cabie
. . A i
No. of Mounting Positions ceessories
Std.
1/2" Stud Hole with 1 3/4" Pkg.
Part Number Bar Size Hole Spacing Qty. st ',33|-
GBANOOO7TPI-1 14" x 4" x 12" 7 1 Steel Ties
GB4N0016TPI-1 1/4" x 4" x 24" 16 1
GB4N0024TPI-1 1/4" x 4" x 36" 24 1
GB4N0026TPI-1 1/4" x 4" x 48" 2 1 Wf:i;‘g
GB4N0034TPI-1 1/4" x 4" x 60" 34 1 Duct
Q.
. " . R Surface
.;.,s Grounding Busbar 1" Hole Spacings NEW! Raceway
LISTED T
Type GBD G.
. . . . . Abrasi
* Provided with 1" hole D pattern spacing » Come pre-assembled with brackets and insulators attached for Pmt’:z;?:n
« Made of high conductivity copper and tin-plated to inhibit corrosion quick installation
¢ Insulators provide 600 V of insulation
.
Cable
) ) Management
No. of Mounting Positons Std.
7/16" Stud Hole with 1" Pkg.
Part Number Bar Size Hole Spacing Qty.
GB2D0008TPI-1 1/4" x 2" x 12" 8 1
GB2D0021TPI-1 1/4" x 2" x 24" 21 1
GB2D0033TPI-1 1/4" x 2" x 36" 33 1
GB2D0044TPI-1 1/4" x 2" x 48" 44 1
GB2D0056TPI-1 1/4" x 2" x 60" 56 1
D3.
Grounding
Connectors
- L
Stainless Steel Hardware for Busbars NEW!
Labeling
* Bulk hardware for attaching connectors to TMGBs and TGBs Systems
Std.
Pkg. E2.
Part Number Part Description Qty. Labels
1/4" Hardware
SSNTS1420-C Stainless steel mounting hardware; 1/4" stainless steel bolts. 100 E3.
SSCW14-C Stainless steel mounting hardware; 1/4" stainless steel Belleville washers (locking). | 100 ;r;,z::tgﬂ
SSFW14-C Stainless steel mounting hardware; 1/4" stainless steel flat washers. 100 Markers
SSN1420-C Stainless steel mounting hardware; 1/4" stainless steel nuts. 100
3/8" Hardware Pemf:;wm
SSNTS3816-C Stainless steel mounting hardware; 3/8" stainless steel bolts. 100 Identification
SSCW38-C Stainless steel mounting hardware; 3/8" stainless steel Belleville washers (locking). | 100
E5.
SSFW38-C Stainless steel mounting hardware; 3/8" stainless steel flat washers. 100 Lockout/
SSN3816-C Stainless steel mounting hardware; 3/8" stainless steel nuts. 100 Jagtf)lﬂ
. Safety
Hardware Kit Solutions
GLMHK Stainless steel hardware for use in mounting lugs for grounding plates and 1
universal beam grounding clamps; includes: two hex head bolts 1/2-13 thread 1" P
long, two split lock washers for 1/2" diameter bolt, and two SAE flat washers for :
1/2" diameter bolt. Index

For technical assistance in the U.S., call 866-405-6654 (outside the U.S., see inside back cover for directory)



@Iasﬂ U

KomnaHus ((3J'IeKTpO|_|J'|aCT» npeanaraeT 3akKn4vyeHmne onrocpoYHbIX OTHOLLIEHUN npu
NOoCTaBKaxX MMMNOPTHbIX 3NTEKTPOHHbIX KOMMOHEHTOB Ha B3aMMOBbLIFO4HbIX yCJ'IOBI/lFlX!

Hawwn npeumyuiectsa:

e OnepaTuBHbIE NOCTABKM LUMPOKOrO CMeKTpa 3NeKTPOHHbIX KOMMNOHEHTOB OTEYECTBEHHOIO U
MMMOPTHOrO NPON3BOACTBA HANPAMYO OT MPOM3BOAMTENEN U C KPYNMHENLLNX MUPOBbLIX
CKNaaos.;

MocTaBka 6onee 17-TM MUNIIMOHOB HAMMEHOBAHWUIN 3NEKTPOHHbLIX KOMMNOHEHTOB;

MocTaBka CNoXHbIX, AeULNTHBIX, MMOO CHATLIX C MPOM3BOACTBA NO3ULIUIA;

OnepaTtunBHbIE CPOKM NOCTABKM Nof 3aka3 (0T 5 pabounx gHewn);

OKcnpecc goctaska B Nnobyto Touky Poccuu;

TexHnyeckas nogaepkka npoekTa, NomMoLLlb B nogdope aHanoros, NocTaBka NPOTOTUMOB;

Cuctema MeHeXMeHTa KavyecTBa cepTuduumnposaHa no MexayHapogHomy ctaHgapTty 1ISO

9001;

o JlnueHausa ®CH Ha ocyulecTBneHne paboT ¢ NCNONb30BaHWEM CBEOEHUIN, COCTABAOLLINX
rocygapCTBEHHYIO TalHy;

o [locTaBka cneumnanmampoBaHHbIX KOMNoHeHToB (Xilinx, Altera, Analog Devices, Intersil,
Interpoint, Microsemi, Aeroflex, Peregrine, Syfer, Eurofarad, Texas Instrument, Miteq,
Cobham, E2V, MA-COM, Hittite, Mini-Circuits,General Dynamics v gp.);

MoMMMO 3TOro, O4HMM M3 HanpaBnNeHU koMnaHum «AnekTpollnacT» ABNseTca HanpaBneHne

«UcTouHmkn nutaHua». Mel npeanaraem Bam nomoub KoHCTpyKTOpCKOro otaena:

e [logGop onTuManeHOro peleHus, TexHn4eckoe 060CHOBaHME Npu BbIOOpPE KOMMOHEHTA;
Monbop aHanoros.;
KoHcynbTaumm no NpUMEHEHMIO KOMMOHEHTA;
MocTaBka 06pa3yoB M NPOTOTUMNOB;
TexHn4veckasn noaaepka npoekTa;
3awmTa OT CHATMSA KOMMOHEHTA C NPON3BOACTBA.

Kak c Hamu cBfizaTbCcA

TenedoH: 8 (812) 309 58 32 (MHOrokaHanbHbIN)
Pakc: 8 (812) 320-02-42

OnekTpoHHas nouTta: org@eplastl.ru

Aapec: 198099, r. Cankt-INeTepbypr, yn. KannHuHa,
Oom 2, kopnyc 4, nutepa A.



mailto:org@eplast1.ru

